Platonic Solid Fold-up Patterns

All graphics on this page are from Sacred Geometry Design Sourcebook

The Tetrahedron (4 sides)

The Hexahedron (a.k.a cube, 6 sides)
The Octahedron (8 sides)

The Dodecahedron (12 sides)

The Icosahedron (20 sides)

__________ T circurnsphere Fadius
\k,_ intersphere radius

N insphere Fadius

k zide lengt

The tetrahedron has the fallowing relative dimensions Cthis
allows scaling to any size):

circumsphere radius = 2 = 1 7320502076
intersphere radius = 1

insphere radius = 1 /32 = 5773502692
zide length = 2+'2 = 28284271247

Tetrahedron Fold-Up Pattern S
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The cube (hexahedran) has the
following relative dimensions (this
allevws zealing to any sizel:
circumsphere radius = ¥(3/2)
#1.2247448714
intersphere radius =1 g
inzphere radioz = 1 /2]
# TO71067E12
zide length = 2
# 1.4142135624

Cube [Hexahedron) Fold-Up Pattern




Platonic Solid Fold-up Patterns
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),-'{ The octahedron has the following
7 relative dimenzions (this allows
. = : zcaling to any size):

. b circumnsphere radius = + 2
- - ; 5 #1.4142135624
S ; i intersphere radius =1
] A insphere radius = ¥(2/2)
# 8164955809
zide length = 2

circurmnsphere r'a-:lius-"f
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Octahedron Fold-Up Pattern
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The dodecahedron has the following relative
dimensions (this allows scaling to any size):
cireurnsphere radius = (¥(12-6+5))/2
& 8506303034

= 1.070465269
r..--"'ﬂ_-...\
side length = 2 - 5 \‘. i

= (1+4 5101 04245)

intersphere radius =1
& TEIIT20225 \
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icosahedron

has the following
relative diren-
zions (this allows
scaling to any size):
circurmnsphere radius =
FI0+2 T+ T) =
11735705048
intersphere radius = 1
insphere radius

= LEHZ /2N

= (2 ([ T+ES) /6]
S50

& 9341 T2ESI0

zide length = 2/5 =
4144 5)

&1 2260673775,
{where =
L1+50/2}

lzosahedron Fo
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